1./30 - 50p - 3po =145 03 p?
2.|3p - 5pq - 1qp =15 p* @
3.14q - 3qr - 3rq =136 Q312
4.40 - 4o0p - 2po =132 03 p?
5./5n + 1no - 7n - 20n - 40 =1-2n - 1no - 40
6./3r+ 2rs-6-6sr->5r =1|-2r-4rs -6
7.2 -4qr-3qg-5rq - 3r =1-19-9qr - 3r
8./3u + 5uv -4 - 9vu+ 7u =110u - 4uv - 4
9.|5r%s + 3rs - 4s?r - 6rs? = 15r?s + 3rs - 10rs?
10.| - 4pg? + 3p?q + 3pq - 8g*p  |=|3p*q + 3pq - 12pg?
11./13p%q - 3pqg - 79°p - 4pg? =13p?q - 3pq - 11pg?
12.|-5uU?v + 1uv + 6Vv2U - 9uv? = [-5uU2v + 1uv - 3uv?
13./(3l + 1m) - (6] + 2m) =|-3l-1m
14./(-1m + 2n) - (2m + 3n) =[-3m - 1n
15.|(4r + 5s) - (9r - 8s) =|-5r + 13s
16.|(-2p + 1q) - (7 + 6p) =[-8p - 60
17./(-2p - 30a) - (59 - 6p) =|4p - 8¢
18./(10% + 10) - (20 + 30?) =[-20%2-10
19.|(2r% - 5r) + (10r + 6r1?) = |8r2 + 5r
20.|(1r2 - 1r) - (6r + 6r1?) =[-5r2-7r
21./(3s?2 +4s) - (7s - 7s?) =110s? - 3s
22.|(412 - 2t) - (6t - 8t?) =|12t2 - 8t




